
POOL LADDER 
STAINLESS STEEL 

EN 

DE 

FR 

IT 

J
I 

) 



EN 

INSTRUCTIONS FOR ASSEMBLY AND USE OF 
STAINLESS-STEEL SWIMMING POOL LADDER 

(for 1.25-m and 1.40-m variants) 

Before assembling the ladder read, please, this instruction very carefully. 
• Read carefully the assembly instruction,.

• An adult person only shall carry out the ladder assembly.

• Select the piace for entering and leaving the pool. 

• The ladder shall be placed on a firm and flat surface to be stable. 

• Not more than one person may use the ladder at the some time, as its LOAD CAPACITY amounts to 

150 kg.

• When using the ladder for entering/leaving the pool keep yourself facing always turned on the ladder

without swinging or rocking.

• Never dive or jump in the pool directly from the ladder.

• Never swim below the ladder or in the space between it and the pool wall. There is a risk of drowning. 

• The removable part of ladder prevents children from entering the pool without adult person's supervision.

Never leave it within children's reach!

• Provide for supervision by a competent adutt person for the entire time of children's presence in the pool. 

• Before using the ladder always check all its parts. Do not use it, if loose or damaged.

• lf the ladder is not used, remove it from the pool.

• Do not use the ladder for other purpose, than it is intended for (i.e. tor entering and leaving the above­

ground pool.)

• Persons of reduced mobility and liltle children may enter/leave the pool using the ladder only with the 

assistance. 

ANY FAILURE TO OBSERVE THESE INSTRUCTIONS CAN RESULT IN A BODILY INJURY OR EVEN 

DROWNING. 

CONTENTS OF PACKAGE 

quantity quantity 
Item Item 

1.25m 1.40m 1.25m 1.40m 

Left support 2 2 Bali support 4 4 

Right support 2 2 Screw M8x70 12 16 

Handrail 2 2 Screw M8x60 4 4 

Stepping piote l l Washer8 16 20 

Stringboard 6 8 Nut M8 16 20 

• 3 • 

www.bsvillage.com 



EN 

ASSEMBLY 

STEP 1: HANDLE ASSEMBLY 

lnsert the thinner end of the pair of right supports into one handle, the pair of left supports into the other 

handle (see Fig. l) 

STEP 2: INSTALLATION OF THE STEPPING PLATE 

Mount the stepping piote between the assembled handles. Use the supplied botts, washers and nuts to 

attach the piote (see Fig. 2). By attaching the piote you will also attach the supports to the handles. Do not 

tighten the bolts, tightening them would make the attachment of individuai stringboards more difficutt. 

STEP 3: STRINGBOARDS ASSEMBLY 

When assembling the individuai stringboards, slide the rubber support in the lower ends of the supports (fit­

ted wilh plastic plug), you will prevent damage of the surface by the ends of the stainless steel tubes (see 

Fig. 3). Assemble individuai stringboards between the handles, pay attention to their correct orientation. Use 

the supplied bolts, washers and nuts to attach the them (see Fig. 4). Do not tighten the bolts. 

STEP 4: TIGHTENING BOLTS 

lighten all screw joints only after attaching all stringboards. Tighten botts firmly, but only wilh adequate force 

to prevent deformation of the tubes. 

The ladder is now ready for use. 

USE 

3-step ladders are intended for use in above ground and partially sunken pools wilh the wall height of max. 

125 cm, 4-step ladders con be used wilh the wall height max. 140 cm. Damaged or incomplete ladders 

may not be used. lt con result in a damage of the pool or hazard to the health and safety of the user. The 

manufacturer recommends to clean the ladder from organic and inorganic deposils using a cleaning 

agent for stainless steel at least once in three months. Subsequent polishing wilh a preservation agent is 

important.

USE IN PARTIALLY SUNKEN POOLS 

So that it is safe, both sides of the ladder (for climbing into and out of the pool) must have the some incli­

nation in relation to the horizontal piane. Therefore, adjust the length of one pair of support according to 

the ladder placement (see Fig. 5) so the ladder is straight. The thickness of the bottom ball support must be 

taken into consideration during the determination of the final support length. Measure and mark the point 

of the cut. 

Be sure lo measure twice before cutting the legs! 
Fit the boli support on the cut ends of the supports (see ASSEMBLY - STEP 3) 

At the end of the season we recommend to remove the ladder from the pool, clean il, preserve il and store 

it at a clean and dry piace. 

• 4 • 

www.bsvillage.com 





DE 

MONTAGE - UND GEBRAUCHSANLEITUNG 

DER EDELSTAHLBADELEITER 

(fur die Varianten 1,25 m und 1,40 m) 

Bitte lesen Sie die folgenden Anweisungen durch, bevor Sie mit der Montage beginnen. 
• Lesen Sie die Montageanleitung sorgfèiltig durch.

• Die Montage und Demontage der Leiter solite durch eine erwachsene Person erfolgen.

• Bestimmen Sie den Platz zum Ei- und Aussteigen aus dem Pool.

• Die Leiter muss auf einem festen und ebenen Untergrund stehen, um stabil zu bleiben.

• Die Leiter darf niemals von mehr als einer Person verwendet werden. DIE TRAGFAHIGKEIT BETRAGT
150 kg.

• Steigen Sie immer mH' dem Gesicht zur Leiter auf und ab, nicht wackeln oder schaukeln.

• Tauchen Sie nie direkt von den Stufen, und springen Sie nie von diesen in den Pool.

• Niemals hinter der Leiter oder unter der Leiter schwimmen. Ertrinkungsgefahr.

• Der abnehmbare Teil der Leiter verhindert den Zugang in den Pool ohne die Anwesenheit von er-

wachsenen Personen. Den abnehmbaren Teil niemals in Reichweite von Kindern lassen. 

• Lassen Sie Kinder niemals unbeaufsichtigt im Pool schwimmen. 

• Vor jeder Verwendung alle Teile der LeH'er uberprufen. Beschèidigte oder lockere Leiter nicht verwenden. 

• Wenn Sie die Leiter nicht benutzen, entfernen Sie diese aus dem Pool.

• Benutzen Sie die Leiter fur keinen anderen Zweck, als fur den sie bestimmt ist d. h. zum Ein- und Aus­

teigen in den und aus dem Pool.

• Auf- und Abstieg von Personen mit eingeschrèinkter Mobilitèit oder von kleinen Kindern ist nur unter 

Betreuung (Hilfe) von geeigneten Personen erlaubt. 

EINE NICHTBEFOLGUNG DIESER ANWEISUNGEN KANN ZU SCHWEREN VERLETZUNGEN ODER 
ERTRINKEN FUHREN 

LIEFERUMFANG 

Stiickzahl Stiickzahl 

Posten Posten 

1.25m 1.40m 1.25m 1.40m 

FuB links 2 2 Kugelstutze 4 4 

FuB rechts 2 2 Schraube M8x70 12 16 

Handlauf 2 2 Schraube M8x60 4 4 

Trittbrett l l Unterlegscheibe 8 16 20 

Stiegen 6 8 Mutter M8 16 20 

• 6 • 

www.bsvillage.com 



DE 

MONTAGE 

CHRITT 1: ZUSAMMENBAU DER HANDLAUFE 

Stecken Sie das rechte Beinpaar mit den verengten Enden in den einen Handlauf, das linke Beinpaar in 

den anderen Handlauf (s. Abb. l) 

SCHRITT 2: MONTAGE DES TRITTBRETTS 

Bringen Sie das Trittbrett zwischen den eingeklappten Handlaufen on. Zur Befestigung des Bretts 

verwenden Sie die mitgelieferten Schrauben, Unterlegscheiben und Muttern (s. Abb. 2). Durch die Mon­

tage der Bretter werden auch die Beine in den Handlaufen fixiert. Lassen Sie die Schrauben zunachst 

locker, da ein Anziehen die Montage der einzelnen Stiegen erschweren wOrde. 

SCHRITT 3: MONTAGE DER TREPPENSTUFEN 

Vor der Montage der Stiegen selbst legen Sie die GummistOtzen auf die unteren Enden der Beine (die 

Enden sind mit einem Kunststoffstopper versehen), um eine Beschadigung der Unterseite am Ende der 

Edelstahlrohre zu vermeiden (s. Abb. 3). Befestigen Sie die einzelnen Stiegen zwischen den Handlaufen 

und achten Sie auf die richtige Ausrichtung. Befestigen Sie sie mit den mitgelieferten Schrauben, Unter­

legscheiben und Muttern (s. Abb. 4). Lassen Sie die Schrauben erneut locker. 

SCHRITT 4: FESTZIEHEN DER SCHRAUBEN 

Erst nach dem Einbau aller Treppen mOssen alle Schraubverbindungen angezogen werden. Ziehen Sie 

sie fest, aber mit angemessener Kraft on, um eine Verformung des Rohres zu vermeiden. 

Nun ist die Leiter betriebsbereit. 

GEBRAUCH 

Die 3-stufige Leiter ist fOr den Einsatz in oberirdischen sowie teilversenkten Schwimmbadern mit einer 

Wandh6he von bis zu 125 cm, die 4-stufige Leiter fOr eine maximale Wandh6he von 140 cm ausgelegt. 

Beschadigte oder unvollstandige Treppen dOrfen nicht benutzt werden. Es kann zu Schaden am Pool 

oder zur Gefahrdung der Gesundheit und Sicherheit des Benutzers kommen. Der Hersteller empfiehlt, 

die Leiter mindestens einmal alle drei Monate mit einem Edelstahlreiniger von organischen und 

anorganischen Ablagerungen zu bereinigen. Wichtig ist auch die anschlieBende Politur mit einem 

Konservierungsmittel. 

EINSATZ IN TEILVERSENKTEN BECKEN 

Damit die Leiter sicher ist, haben die beiden Seiten, sowohl die Einstiegs- als auch Ausstiegsseite, Ober 

die gleiche Neigung gegenOber der Horizontalebene zu verfOgen. Demzufolge ist je nach Aufstellung 

der Leiter die Lange eines Holmpaars anzupassen (siehe Abb. 5), damit die Leiter gerade steht. Es ist 

beim Festlegen der resultierenden Holmlange mit der Materialdicke der unteren kugelf6rmigen StOtze 

zu rechnen. Die Schnittstelle messen und markieren . 

• 7 • 

www.bsvillage.com 





FR 

MANUEL D'INSTALLATION ET D'UTILISATION 

DE L'ECHELLE DE PISCINE EN INOX 

(pour les modèles 1,25 m et 1,40 m) 

Lisez les instructions suivantes avant le montage de l'échelle. 
• Lisez attentivement cette notice de montage.
• Seule une personne adulte doit réaliser le montage et le démontage de l'échelle.
• Déterminez l'emplacement d'entrée et de sartie de la piscine.
• L'échelle doit etre installée sur une surface piane et dure pour rester stable.
• L'échelle ne doit etre utilisée que par une personne à la fois. SA CAPACITÉ PORTANTE EST DE 150 kg.
• Restez toujours foce à l'échelle en montant et en descendant et ne vous balancez pas.
• Ne plongez jamais directement de l'échelle dans la piscine.
• Ne nagezjamais sous l'échelle ou dans l'espace compris entre l'échelle et la parai de la piscine. Il

existe le risque de noyade.
• La partie amovible de l'échelle empeche les enfants d'accéder à la piscine en dehors de la pré­

sence des adultes. Ne laissez jamais la partie amovible à la portée des enfants.
• Une personne adulte doit assurer la surveillance permanente des enfants présents dans la piscine.
• Vérifiez toutes les parties de l'échelle avant chaque utilisation. N'utilisez pas l'échelle si elle est en­

dommagée ou en partie dévissée.
• Sortez complètement l'échelle de la piscine si vous ne l'utilisez pas.
• N'utilisez pas l'échelle à d'autre fin que pour laquelle elle est destinée, c'est à dire entrer ou sortir

d'une piscine hors-sol.
• L'entrée et la sartie de la piscine des personnes à mobilité réduite ou aux petits enfants ne sont

autorisées que si ces personnes sont accompagnées (aidées) par des personnes physiquement et
psychologiquement aptes.

LE NON-RESPECT DE CES INSTRUCTIONS PEUT ENTRAINER DE GRAVES BLESSURES OU LA NOYADE. 

CONTENU DE L'EMBALLAGE 

Nombre de pièces Nombre de pièces 
Item Item 

1.25m 1.40m 1.25m 1.40m 

Pied gauche 2 2 Support sphérique 4 4 

Pied droit 2 2 Vìs M8x70 12 16 

Main courante 2 2 Vìs M8x60 4 4 

Plateforme l l Cale 8 16 20 

Marches 6 8 Écrou M8 16 20 

• 9 • 

www.bsvillage.com 







IT 

ISTRUZIONI PER IL MONTAGGIO E L'USO 
SCALETTE PER PISCINE IN ACCIAIO INOX 

(per le varianti da 1,25 m e 1,40 m) 

Prima di procedere al montaggio della scaletta, leggere attentamente le seguenti istruzioni: 

• Leggere attentamente il Libretto di montaggio.
• Il montaggio e lo smontaggio della scaletta devono essere effettuati da persone adulte.
• Scegliere accuratamente il posto per entrare nella piscina e per uscirne.
• La scaletta per essere stabile deve essere posizionata su una superficie piana e solida.
• La scaletta non può essere usata contemporaneamente da più persone. LA PORTATA DELLA SCA­

LETTA E' DI 150 KG.
• La persona che sale o scende la scaletta deve essere sempre rivolta verso la stessa e non deve

compiere movimenti pericolosi o oscillatori.
• Non tuffarsi e non saltare direttamente dalla scaletta nell'acqua della piscina.
• Non nuotare sotto la scaletta neanche tra la stessa e la parete della piscina, altrimenti si rischia di

annegare.
• La parte eliminabile non permette ai bambini di entrare nella piscina all'assenza di persone adulte.

La parte eliminabile deve essere lasciata fuori dalla portata dei bambini.
• Osservare continuamente i bambini dentro la piscina o farli osservare da persone adulte competenti.
• Prima di usare la scaletta, controllare tutti i suoi componenti. Non usare la scaletta danneggiata o

snodata.
• Se non si usa la scaletta, toglierla completamente dalla piscina.
• Non usare la scaletta per scopi diversi da quelli previsti, cioè: per entrare nelle piscine fuori terra o per

uscirne.
• La salita e la discesa dei bambini piccoli o delle persone diversamente abili devono awenire soltan­

to con l'assistenza (accompagnamento) di persone capaci dal punto di vista psichico e fisico.

IL MANCATO RISPETTO DELLE SUMMENZIONATE ISTRUZIONI PUÒ PROVOCARE INFORTUNI GRA­
VI O MORTALI (ANNEGAMENTO). 

CONTENU DE L'EMBALLAGE 

Nombre de pièces Nombre de pièces 
Item Item 

1.25m 1.40m 1.25m 1.40m 

Pied gauche 2 2 Support sphérique 4 4 

Pied droit 2 2 Vìs M8x70 12 16 

Main courante 2 2 Vìs M8x60 4 4 

Plateforme l l Cale 8 16 20 

Marches 6 8 Écrou MB 16 20 

• 12 • 

www.bsvillage.com 



IT 

MONTAGGIO 

PASSAGGIO 1: MONTAGGIO DELLE MANIGLIE 

Inserire la coppia di gambe destre dalle estremità strette in una maniglia e la coppia di gambe sinistre 
nell'altra maniglia (vedere fig. l) 

PASSAGGIO 2: MONTAGGIO DELLA PEDANA 

Montare la pedana tra le maniglie. Per fissare la pedana, utilizzare le viti, rondelle e dadi in dotazione 
(vedere fig. 2). Mentre si monta la pedana si fissano anche le gambe nelle maniglie. Lasciare le viti 
allentate, stringendole si renderebbe più difficile il montaggio dei singoli montanti. 

PASSAGGIO 3: MONTAGGIO DEI MONTANTI 

Prima di montare i montanti, inserire i supporti in gomma sotto le gambe (muniti di tappo di plastica) 
per evitare danni alla base a causa dei tubi in acciaio inox (vedere fig. 3). Montare i montanti tra le 
maniglie, prestare attenzione all'orientamento corretto. Per fissarli utilizzare le viti, rondelle e dadi in 
dotazione (vedere fig. 4). Mantenere ancora allentate le viti. 

PASSAGGIO 4: SERRAGGIO DELLE VITI 

Dopo il montaggio di tutti i montanti, è necessario serrare tutte le viti. Serrare saldamente ma ad una 
coppia adeguata per evitare la deformazione dei tubi. 

A questo punto le scale sono pronte all'uso. 

UTILIZZO 

Le scalette a 3 gradini sono destinate all'uso nelle e parzialmente interrate piscine fuori terra con 
altezza massima della parete di 125 cm, le scalette a 4 gradini possono essere utilizzate per un'altezza 
massima della parete di 140 cm. Le scalette danneggiate o incomplete non vanno utilizzate. Possono 
causare danni alla piscina o mettere in pericolo la salute e la sicurezza dell'utilizzatore. Almeno una vol­
ta ogni tre mesi, il produttore raccomanda di eseguire la pulizia delle scalette rimuovendo i sedimenti 
organici e inorganici con un prodotto per la pulizia di materiali in acciaio inox. È importante anche la 
successiva lucidatura con un prodotto conservante 

UTILIZZO NELLE PISCINE PARZIALMENTE INTERRATE 

Affinché le scale siano sicure, le rampe d'entrata e d'uscita devono avere la stessa inclinazione rispetto 
al piano orizzontale. Pertanto, in base al posizionamento delle scale regolare la lunghezza di una 
coppia di gambe (vedere Fig. 5) affinché le gambe poggino dritte sul suolo. Per stabilite la lunghezza 
finale delle gambe è necessario tenere conto dello spessore del materiale del supporto sferico inferio­
re. Misurare e contrassegnare il punto di taglio. 

Misurare bene prima di tagliare le gambe! 

Inserire nuovamente i supporti sferici alle estremità tagliate delle gambe (vedere MONTAGGIO - PAS­
SAGGIO3) 

• 73 • 

www.bsvillage.com 










